
CSC165H1 Tutorial #9 Fall 2014

1. Write a detailed, structured proof that

8f : N! R
>0;8g : N! R

>0; g 2 
(f)) g2 2 
(f2)

(where f2 and g2 are de�ned in the obvious way: 8n 2 N; f2(n) = f(n) � f(n), and similarly for g).

Dept. of Computer Science, University of Toronto, St. George Campus Page 1 of 2



CSC165H1 Tutorial #9 Fall 2014

2. Prove or disprove the following statement:

8f : N! R
>0;8g : N! R

>0; f 2 O(g)) (f + g) 2 �(g)

(where (f + g) is de�ned in the obvious way: 8n 2 N; (f + g)(n) = f(n) + g(n)).
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